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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

: :
| |
% Part I :- Circle the letter corresponding to the correct answer: %
(4 marks for each questions D dasaal) Alal) ey Jea 5l :
- | 1) Determine the area of 33 gaaal) Adlaial) dabuca 22 (1 [E
C| the region enclosed by Criadally |
[ — a2 — [
: y=x* , y=x+2 y=x" , y=x+2 :
§ A 1.2 §
= A [P -x+2)dy ;
I 1 ) :
= B [(x+2-x%)dx :
S 2 .2 . a
: ) [ ((x* —x—2)dx -
E D 2 A2 E
: gadll 42 ((x+2-x*)dx :
- | 2) Find the volume of the solid ahial) Aabuss ANy anall aaa 22 (2F
- | with cross-sectional area a2 o
| A =nm(x—3)5,1<x<2 Ax)=n(x—-3),,1<x<2 [
= Ay S :
u 3 u
. B) . 5
5 3 5
I e :
5 5 5
= D) :
u 3 u
3 gsahll saaliae taaa [ MY




Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

- -
| |
% 3) Compute the volume of the solid 1o G (LA annall aaa 4%33 3 %
- | formed by revolving R between y = raiall (3 ganall g R 4dkial) |F
| x* y =0,and x = 2 about the line y=x2y=0,x=2, :
[ x =2 X =2ds |
= D V= [fre - )ty é
= B v=[in@-ypldy :
- 4 i
: 4 :
= D V= [y -2)%dy :
" | 4) which integral represent the f(x) DA aial g8l Joha 26l (4 F
é arc length Of f(x) and B AL A f(x) = Vax? —1 & é
| f(0) = v4x? —1in [-2,-1] [-2,-1]|E
n A) f__zlx/l + 4x2 dx :
: B -1 i
: ) J_, 2xdx :
S :
: ) J_, 4xdx "
§ D -1 _ §
E ) J_, —2xdx :

skl vadlae daaa [ 30AY)
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

5) which integral represent the | ghed) dalua go oy 3 Jalsil) aaa (5
surface area Of revolution about | e 23515 X Jgaa Jsa &lugall (e g3l
X-axis and approximate the fx)=Inx, 1<x<2 Jasil
integral

f(x) = Inx, 1<x<2

A
) 2mPinx /1+§dxz 3.09
B 2
‘ 2 [ Inx /1 —(;) dx~1.868

C)

x2+1

2m [ Inx | dx ~ 2.866

x2

D) 27 flz Inx\/1+ (In x)% dx ~ 2.722

6) Identify the initial conditions pacad) (Y Al Ja g pld) a2 (6
y(0), y'(0), an object is released y(0), y'(0)

from a height of 20 ft with an A o lagrag 20ft W) e
upward velocity of 4 ft/s 4 ft/s 4gaia

A) y0)=20, y(O0)=-4
B) y(0)=20, y(0)=4

c) y0)=20, »'(0)=0

D) y(0)=0, y'(0)=-20

LI N I NN NN NN )
LI N I NN NN NN OO O A AN NN NN

skl vadlae daaa [ 30AY)
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

7) An object is launched anagle Ry gﬁg 959 e as (3llay (7
w . . - - .t

6 = - radians from the horizontal 32 98 m/s :\?g\_\:\,,\ Aoy 38Y) e

with an intial speed of 98 m/s A g2all g (Blail) a)

Determine the time of flight and the

horizontal range

A)  t=10V3 , x(t) = 1470
B) t=10 , x(t) =490
C) t=5V3 , x(t)=245V3
D) t=10V3 , x(t) =490V3
8) Evaluate Jalsil) il 2 ) (8

[ sec5t tan5tdt [ sec5t tan5tdt

A) 5secht+c

B) 1
75 sec5t+ ¢
1

C) —secSt+ ¢
5

D) 1
Esect +c

LI N I NN NN NN )
LI N I NN NN NN OO O A AN NN NN
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

: :
: :
ﬂ 9) Evaluate fol x% e3* dx fol x> e’ dx g (9 ﬂ
= A) sz :
8 27 8
é B) 5e3+2 é
- 27 i
= () set2 :
: 27 -
E D) ~5e3+2 é
: 27 .
E 2x 2x ¢ E
n d d g (10| E
: 10) Evaluate [ — dx 1] adx 10 :
= A 2sin (Y +c :
. — .
: B) _Vi—x t+c :
[ 2 [
0 sin™1(x*) + ¢ :
" D) sin™1(x*) + ¢ i
| 11) Evaluate [ xInx dx [ xlnx dx S @l sagl (11| F
= A Ixmx-ix2+c :
5 2 4 :
= B) 2xflmx+ sxt+4c :
) 2 4 -
; C) 2x%lnx+ 4x* +c¢ :
= D) lyzpx- a2 :
: 2 2 5
skl vadlae daaa [ 30AY)




Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

12) Evaluate fol x%cosmx dx fol x2costx dx Ja\sil @il 2 gl (12
2
a  Z
2
B) -2
4
0 L4
D) 2
w
13) Evaluate [ sin3x cos*x dx Y Jalsil) a6l (13

[ sin3x cos*x dx

A) %cos7x+§cossx+c
B) %cos7x—§cossx+c
C) %sin7x—§sin5x+6
D) %sin7x—§sin5x+c
14) Evaluate [ 5 tan3x sec x dx ) Jalsill sa 0l (14

[5tan®x sec x dx

A) 5sec3x—5secx+C

5
B) §sec3x—SSecx+C

C) Stanx —5x+C

D) Stanx +5x + C

LI N I NN NN NN )
LI N I NN NN NN OO O A AN NN NN
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

15) Determine the appropriate Ay aibial) (g g2l s (15
substitution to find [ —— dx [—== dx

9—x2 9—x2

A4)  —V9—xZ+c¢
B)  No—x2+c¢
C) —3cosx+c
D 0 =1 (X
sin (3)+c

Part Il :-

16) Find the area between the line y = x —1 and the curves
y=v2x+6 ¢« y=—/2x+6
Cpsindally y = x — 1 asiieal) (b ) guanal) Abhiall dabu 2350 (16
y=vV2x+6 ¢« y=—/2x+6

¥

LI N I NN NN NN )
LI N I NN NN NN OO O A AN NN NN
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

17) Compute the volume of the solid formed by revolving R
betweeny = x? , y =8 —x% about theliney = -1
rindall G 3 ganall g R ABkaiall 0 393 (e (L) aminal) ana 29l (17
y=—-1dsn, y=8—x2, y=2x?

18) A rope is to be hung between two poles 40 ft . if the rope assumes the

shape of the catenary y = 10(620 +e 20) —-20<x<20
Compute the length of the rope

Aol IS 335 430 gaw Jaad) S 13) 40 fit Lagie 2l a e (o Jea (e 2ic (18
y=10(e20 + e 20),—20 < x < 20 Jaall Job uua) dAllalaa

IS
LI N I NN NN NN OO O A AN NN NN
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

19) Evaluate [e**cos2xdx

20) Evaluate [—=—=dx Y Jalsill dad 23 61 (20

V16—x2

LI N I NN NN NN )
LI N I NN NN NN OO O A AN NN NN
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

: :
-
"~ Part I :- Circle the letter corresponding to the correct answer:
( 4 marks for each questions ) : Aasauall AlaY) ey Jea 8 aa
1) Determine the area of the Criadally 33 gasal) diaial) daloca 23 41 (1
region enclosed by y=x%* ,y=+x
y = xz ) y = \/}
1 *
A) [ (x? = Vx)dx
B) fol(‘/; - x%)dx | X
0 1 1 i
O L (Nx—x%)dx + [, (Vx = x2)da _I
D) [E+ )
2) Find The volume of the solid with daliss 1) acnall aaa 32 4f (2
the cross-sectional area A (o ) adadal)

A= ] <x<1
A=msin(ntx),0<x<1 msin(mx),0 < x <

A) 4
B) 2m
) m
D) 2

T T T T M a3

e e e e e e e e e e e e E e e e e e e e rE e e e e e e e e rE e e e e e e e rE e e rE e rE e e r e rE e e r e r e r e e e erneril
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

3) Compute the volume of the G093 (A () ainall aaa 22 ) (3
solid formed by revolving R riaial) s 3 ) sanall g R Adlaial)

between y =vx ,y=2 ,and x =

0 about the line y y=2,x=0y=+x

y=-1 dJs

A v=[no - x+1)>dx 4

B) © v=['no-x+1)>dx

C) v= f: n((vVx + 1) — 9)dx

D) v = [im(9—yDdy "

4) which integral represent the | (Asia Jsh ¢e o o3 Jalsil) 2aa (4
3 "

arc length Of . FoO) = 4xi+1,[1,2]

f(x)=4x2+1,[1,2]

A

—/

f12\/1 + 6+/x dx
B)  [*\V2¥36xdx
1

C) f12\/1+16x9 dx

D) [*V1+36xdx

LI N I NN NN NN )
LI N I NN NN NN OO O A AN NN NN

[ skl seallye daaa [ 30
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:

Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

5) which integral represent the
surface area Of revolution
and approximate the integral

f(x) =cosx, OSxSE

daluw (& iy o) Julsil) aa (5
dagd aa gl g O o) (e ) pdand)

f(x) = cos x, OSxS% Jualsil)

A 2m JE cosxV1 + cos?x dx ~ 8.08
B) 2w [2 sinxV1 + cos?x dx ~ 7.21
O 2m JE cosxv1 + sinx dx ~ 8.38
D)

21 [? cosxV1 + sin’x dx ~ 8.28

6) ldentify the initial conditions
y(0), y'(0)An object is released
from a height of 40 ft with an
downward velocity of 6 ft/s

GOBY 4d1aiy) Jag il daa (6
o y(0), y(0) )
e Y3385 40ft gW)

6 ft/s “42ia

A) y(0)=40, y(0)=-6
B) y(0)=40, y'(0)=6
) y0)=40, y'(0)=0
D) y0)=-6, y(0)=40

7) Find the time the time of flight
and the horizontal range of an
object launched at angle 30" with
intial speed of 64 ft/s

&Y caall g Gadadl) ) daa (7
(4 307 49 Lo ppes (3lhay Lanic
64 ft/s 4l 4As pun gﬁ‘i\

A t=2 , x(t)=64ft
B) t=1 , x(t)=64V3 ft
C) t=2 , x(t)=64V3 ft

D) t=2v3 , x(t) =64V3 ft

gsahll saaliae taaa [ MY
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

8) Evaluate [ — dx [—= dx Jasil aai (8

4+x2 4+x2

A4 sint (5) +c
B) lsect (f) +c
C)  tan! (g) +c

D). Ztan1 (g) +c

9) Evaluate the integral Jalsil) dad 2a (9

fol x(x —2)% dx fol x(x — 2)% dx

A) i(x_z)4+§(x—2)3;=ﬁ
) i(x—Z)“—%("_z)B:Zg
C) i(x—2)4+§(x—2)3;:%
D) i(x—2)4+§(x—2)3;=g

LI N I NN NN NN )
LI N I NN NN NN OO O A AN NN NN
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

10) Evaluate | dx Jasil aagl (10

xz xz
dx ]
Va—-x2 Va—-x2

S
—

2 sin” 1(%) +c
B) élsec1(§)+x‘lx2 +c
C)  4sin 1(%) xV4 —x2 +c
D) 2sin1 (g) —xV4—x%2+c

11) Evaluate [ 2x cos(x®) dx | [ 2x cos(x?) dx Jalsal) gl a4l (11

A) =sin(x*) +c
B)  —2xsin(x*) + 2cos(x*) + ¢
C) sin(x®)+c

D) cos(x*) + ¢

12) Evaluate [ x? e 3*dx [ x% e 3%dx Jalsil) gl 22 512 (1
A) —x2e3x _ 2xe 3x _ 2e3% s
3 9 27
B) 2,-3x 2xe 3x / Ze—3x
3 + 9 27 te
C) —x2e3x  2xe~3x _ 2e~3%
3 + 9 27 te
_2 2,-3x 4_ -3x 2 —3x
D) x _ 4xe _2e i
3 9 27

LI N I NN NN NN )
LI N I NN NN NN OO O A AN NN NN
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

- -
| |
N L <l 2l j 2
| 13) Evaluate [#sin*x cosx dx ,,dA & (13 i
: Jgsin*x cosx dx | E
= A 2 :
: 160 n
f B) 2 :
n 40 i
F O 42 F
: 5 :
D) V2 F
: 8 :
" [ 14) Evaluate [ tan3xsec3xdx S Jalsil aa gl (14| £
: [ tan3xsec3xdx |t
= A)  sec®x secix N :
n — C n
2 5 3 -
- B) secx N sec3x i -
i c -
- 5 3 -
- () 5sec’x—5sec3x+C :
= D) . tan®x  tan3x :
C — + c C
2 5 3 -
E 1 1 - 5 E
- | 15) Eval dx Y Je&il sl (15| F
: 5) Vauatefxz\/mdx fxzm x ¥ da 3 ( ;
= 4 - :
- ) _ 9 xz + C [
m x m
& B —2 :
y ) _ V9-—x s .
C 9x »
F 0) 1 (x x/9-x2 :
§ sSin (5) - 2 +C §
E D . -1 (X E
: sin (3) +c :

[ skl seallye daaa [ 30
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

Part II :-
16) Determine the area of ¢ Gpiadally 3aaaal) dBhiall daluwa 2240 (16
the region enclosed by x=2+vy% , x=3y

x=2+y*, x=3y

17) Find the volume of the solid formed by revolving the region
bounded by y =2 —x ,y = 0 and y = x about the y-axis ;
rindall G By guanall g Alllal) ABhaiall ) 593 (pa (LA acal) ana 22 (17

y Jadx y=0 ,y=Xx, y=2—-x

LI N I NN NN NN )
LI N I NN NN NN OO O A AN NN NN
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

18) which integral represent the arc length of
£ Q) Al dadad Guslll Jh 2a ) (18

y=2(e++e 4)in[0,2]
19) Evaluate [ sinx sin2x dx ) Jalsil) Aagd 2a 61(19

20) Evaluate [=

dx Y Jalsil) dad 22 ) (20

LI N I NN NN NN )
LI N I NN NN NN OO O A AN NN NN

skl daaliye daaa [ MY
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C
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

a
"

"~ Part I :- Circle the letter corresponding to the correct answer:
(4 marks for each questions )

: Aaaal) BaY) Say Jga 5

1) Determine the area of the
region enclosed by
y=x*> y=0,and x = 2

O By gnanal) Alaiall dalows 22 (1
adall

y=x“y=0,x=2,

A)
B)
C)

D)

A=['2-y)dy
A= [, (2-ydy

A= [ (x*—2)dx

A= ['(Jy—2)dy

2) Find The volume of the solid
with the cross-sectional area

A=10e%%1" 0<x<10

dalwa ) aall a2 4;33(2
4l g o) adaial)
A=10e%%1* 0<x <10

4)
B)
C)

D)

e e e e e e e e e e e e E e e e e e e e rE e e e e e e e e rE e e e e e e e rE e e rE e rE e e r e rE e e r e r e r e e e erneril

:

gsahll saaliae taaa [ MY

V= f01o (10 %91 dx
V= folon(lo e¥ 0102 g x

V=10 e"°)dx

V= ["2m(10 e291%)(0.1 %01%)dx

LI N I NN NN NN OO O A AN NN NN
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

3) Compute the volume of the O (AU amaall aaa 224l (3
solid formed by revolving The Crllally Badaal) Alkaial)
region bounded by y=4—-x ,y=+vV2x,y=0
y=4—-x,y=vV2x ,y=0 x=—1 adieadl Joa Jo¥ ol B
revolved about x = —1
A) 16Tt 1Y
B) 132 ol
C) 44518 g X-
ET[ -1 o 1 2 3 4
D) 132 21
5 Ncraph Limited Schoot Edition
4) Find the length of the arc to F(x) QA daial (ugdll Job 2> gl (4
the curve of the function f(x) fl(x) =xVa2 +2 &a
where f'(x) = xVx? +2 on the (0,3] 5 3
interval [0, 3] ’ i

A 12
B) 11.2
) 6.2
D), 7.5
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

5) which integral represent the
surface area Of revolution
about X-axis and approximate
the integral

Ghul\ dalua (8 iy 4533‘ Jalsill aaa (5
dad 22 gl g X gaa Jga st e il
Jalsal)

fx)= x3,1<x<3

flx) = x?%, 1<x<3
A)  2nm ff x2V1 + 2x2dx
B) " 2n f13 2xV1 + 4x%dx
C)  2m ff x2V1 + 4x2dx
D) 2m ff x2V1 + 4x dx

6) ldentify the initial conditions
y(0), y'(0)An object is released
from a height of 24 ft

GO 4d1aiy) Jag il daa (6

y(0), y'(0) psmsl
24ft gWi))

A)  y(0)=24, y'(0)=-32
B) y(0)=24, y'(0)=0
c) y0)=0, y'(0)=24
D) y(0)=-32, y'(0) =24

gsahll saaliae taaa [ MY

LI N I NN NN NN OO O A AN NN NN
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

7) A baseball pitcher releases the BN ) 88 oY 3l (7
ball horizontally from height of 6t | 4l “e e 6 ft gL (e L8
with initial velocity of 130f¢/s, find | 3,8 gWi) 29l < 130 ft/s &

A) tan '(x) + In|1 + x%| + ¢
B) In|1+x*|+c
C) tanl(x) + 2In|1 + x*|+ ¢

D)

1
Etan‘l(x) +In|1+x%| + ¢

: :

5
- | the height of the ball when it (S A ) B ) Jusi Lais |
" | reaches home plate 60ft away. 60 ft 2| £
§ A4)  2.95ft é e 130 ft/s E
= B) 2.77ft Y T :
C| w 61 C|
- C) 0.46ft L §
: | 2
- D) 6 ft - r=0 r = 60 -
"|8) Evaluate [ 9+3;x2 dx [ 9+?;x2 dx Jasl) mil 2l (8| E
SV S :
: gtant(3) +¢ 5
u 1 u
: B) 3 tan 1(x) +c -
§ C) 3tan~1(x) + ¢ §
: 1 :
: D) Etan‘1(3x) +c -
" | 9) Evaluate the integral [ i:i; dx | 1:1; dx Jasiidagon (9|E

[ skl seallye daaa [ 30
-
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

10) Evaluate | \/12e7x2 dx Jalsdll 2250 (10
—e X

A)  2sin71(e®) +c
B) 2secl(e®)+c
0) sin~1(e*) + ¢

D) 2sin"1(e*®)+c

11) Evaluate [ xsin4x dx Jalsill il aa gl (11
A)  _ Yycosdx + Lsindx+c
4 16
B) 1 17 .
-xcos4dx — —sindx + ¢
4 16
C) —4xcos4x + 16sindx + c
D 1 1 .
) — Zxcos4x + gsm4x + C
12) Evaluate [x3 e *dx Jalsil) il aa gl (12
A) —x3e*+3x>’e*—6xe*+6e*+c

B) x3e*+3x’e*+6xe*+6e*+c
) —x3e*—3x’e*—6xe*—6e*+c

D) —x3e*-3x’e*+6xe*+6e*+c

LI N I NN NN NN )
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Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

: :
| _ B |
3 13) Evaluate [ sin*x cos x dx 3 Jalsil) 22 6)(13 %
[ [
=4 % cos®> x + C é
h B) — i cos®x + C :
SEE A ; sin®x+C F
D) % sin® x+ C :
- 14) Evaluate [ cot?*x csc*x dx A Jalsil dagi (14 £
: A) —%cot3x+%cot5x+c :
B) 1 cos? 1cosS
0 - €Os x+5cos x+C 0
: C) —% csc3x—§csc5x+C :
- D) —%cot3x—§cot5x+c :
= 15) Evaluate [V9 — x2dx I Jalsil 22 g) (15 £
4 — s
. )y ¥z +c 5
L) X L)
- B . Jo—x2 5
C ) gsm‘1(5)+x X 4 .
: 2 3 2 :
& C . V9—x2 .
H ) sm‘l( ) WX ¢ =
: 3 2 5
- Jo—x2 -
. gsin‘l(f)—x O 4 ¢ -
: 2 3 2 5
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PartII :-

16) Find the area bounded by ¢ Gxisiall 8a3aal) dihial) dalus 224l (16
the graphs of y = x% and sl Ay =2—x2,y = x?
y=2-x%0<x<2. 0<x<2

17) Compute the volume of the solid formed by revolving R
betweeny =vx2+1 , y=0, 0 <x <4 abouty—axis ;
riaial) (3 geanall g R Alkaial) () 593 (e (LY axall aaa a9l (17

y—axis Jsy=vx?+1,y=0, 0<x<4

¥

Pl
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[ skl seallye daaa [ 30
-

IS ESESESESESESESESESESESEEESESESEEEEEEESEEEEEEESEEEEEEEEEEEEEEEEENEEEEEEEEEEEEEEEN




Lttt errerrerrererrerererererererererererererererererrerrerrerrerrereerrrerrerererrerreeerenpeh]l

: :
| |
- 18) A rope is to be hung between two poles 60 ft . if the rope ﬁ
§ assumes the shape of the catenary. Compute the length of the rope F
C Adlilee A (98 A 4d) gam Jaad) S 1) 60 ft Lagdn ral) (agas G Jes (alad &3 (18 F
- Jaall Joh ) £
§ y=15(e;_0+e_;_0),—303xs30 -
: 19) Evaluate [(In x) %dx Y Jalsil) Aad 22 5)(19 :
= 20) Evaluate [ =dx ) Jalsil) A 2l (20 F
L xXc— L
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